=
o
w

do/dAn [mb]
2

=
o

Ratio to Herwig 7.1.6 default
=

o
&

7000 GeV pp Soft QCD
= [N I L L L L L L L B AL B B B =
;_ (p, > 0.2 GeV) _
rf"l;;‘ %

{ oA —
= ' =
S =
L ¢ __
= g =
~ LI+ =
= ’ E!E_iip __,5 5 -:31 —
= "‘0. R dir W S
B ¢ n pii L
= \ B A3
B ’ ' L - [2} H T A II-_‘\J ]
= % T L] ES“E:H—--_ __" o [5;]5
= W M dmo o =
~ 4 AN r ¥ -
= iy : | =
=~ --3-- Herwig 7.1.6 defaljlt =
—— —— Pythia 8.308 defalllf: ' —=
= ¢ Sherpa22.9defauft: ! =
= e E Rt N A :E| N I T B =
:l T T T T | T T T T | T T T ¥ Y T T T |:
¢ i

4L
A S | l% ...... Y AR o I |
0 5 10 15 20

Rivet 3.1.10, = 500k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


